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Find the general solution of each of the differential cqualions in Exerc

-2
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22.

23,

“ 42' THE HOMOGENEOUS LINEAR EQUATION WITH CONSTANT COEFFICIENTS 7

Exercises

d*y dy

T3-S +6y=0 2.
45%’» 1zgil+5y-_—o 4
s—% %-%+3y=0 6
%-s%uw:o 8
%-4%+13y=0 10.
§;§+9y=0 A
%—5::;-{-7%—3)1-:0

:xy 6:2 +1zg—-8y 0.
£§+4§-2—§+5%f6y=0.

p. BA 2

S:f—+8:z, 16y = 0.
185 L
.Zli’—ils—sii’z’+§”+2y 0
:;{'I-sji’,’—zjz’,’Jrz%sz:o.
j‘i’+6j’,’+1sj ,+20: + 12y = 0.
j‘4+y 0 24.

135

ises 1-24.
3;2—-!4(, 5y==0
% gxy 52——+l2yu0
432{+4;-+y==0
:2 +6g——-l 25y = 0.
4%+y=0.
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EXPLICIT METHODS OF BOLVING 1L

Sotve the initial-vatue problems i bastolest

o AW s =3 YOS

dﬁ dI
' ) = 2.

J’}' d}; iy = 0 () = - A, y (0
59 J?‘ o AJ 4 Ry {), j’“n o !a yl(”, 0,
“odst dx
7 ) " 43-" ayw0, yO)=2, y(0) = -4
T % '
2% ‘f‘ 4 f,‘“ s 9y =0, y0) =2 y(0) = =3,
B o dx
3. 4? - 2?‘: s9y=0, O =4, YO = 9.

-

w i a0 =3, YO)=T

dx’ ax
32 QZL~6§)~+}:0 woy=3,  yO)=~1

x*
33§;w45¢2w 0, y0)=0, y(O)=
5 d

. g—;—-&ﬁﬁ# SEy = 0, y(O)-...-—-]’ y’(()):—_-s
; d) ; dv
2. 3;’;*63%4* 13y=0, y0)=3, yO)=-1,
., 'y dy
. S+l +5=0, =2, y0)=

r dy
7. 93;5-&6‘{ + Sy=0, y(0) = 6, Y(0) =0

dy
3 4 Fxf + 4’d~x" 4+ 37}? = 0, )’(0) - 2’ .V'(O) W v

ﬁ"éfmf+fi'ﬂmﬁy=:0 (0) = 0
x dx dx , d y0) =0, y(0) =0
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% . Z;; 22——5 + 4 ~ 8y = (0, y(O] =2 V() = O, y"(O) - Og. ;
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